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H kk xH kk xH kk xH kk x – I / PART – I 

c ky fo d k l o f 'k {k k 'kk L=c ky fo d k l o f 'k {k k 'kk L=c ky fo d k l o f 'k {k k 'kk L=c ky fo d k l o f 'k {k k 'kk L= / CHILD DEVELOPMENT AND PEDAGOGY 

fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %  f uEufy f[ kr iz'uk s a d s m Ù kj ns us d s f y, l c ls m fprl c ls m fprl c ls m fprl c ls m fpr     f od Yi pq f u,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

1. lk ek ftd  :i l s o a fp r cPpk s a d s fy, fd l 
iz d kj d h f'k {kk m i; q Dr gk s xh  \  
1) v u kS ipkf jd  f 'k{k k 
2) f of 'k"V f 'k {kk  
3) l eko s'kh  f 'k{kk  
4) /k kf eZ d  f'k {kk 

  1. Which type of education would be 

appropriate for socially deprived 

children ? 

1) Informal education 

2) Special education 

3) Inclusive education 

4) Religious education 

2. fu Eu fyf [k r es a ls dkS u &l k d F ku ,f jDlu 
d s eu ks&lk ek ftd  fo d kl fl) k a r ds 
v Ur xZ r f d 'kks jk oLF k k d s la c a/k esa lghlghlghlgh  
gS \ 
1) vga&igpku ,d /kukRed euks&lkekftd 

igyw gSA 
2) vga&igpku ,d _.kkRed euks&lkekftd 

igyw gSA 
3) v ga&igpk u , d  rV LF k e uk s&l ke kft d 

igyw gSA  
4) v ga&igpk u d k s bZ eu ks&lke kf td  igyw 

gh u gh a gSA  

  
2. Which of the following statement is 

correct regarding adolescence, 

under Erikson's Psycho-social 

development theory ? 

1) Ego-identity is a positive 

psycho-social aspect. 

2) Ego-identity is a negative 

psycho-social aspect. 

3) Ego-identity is a neutral 

psycho-social aspect. 

4) Ego-identity is not just a 

psycho-social aspect. 

3. , d  l tZ u'k hy ck yd  e sa fuEu fyf [k r esa ls 
d k S u&lh  f o'k s "kr k u ghau ghau ghau gha  ns [k h tkr h gS \ 
1) v ilk jh  f pa r u 
2) v f r ftK kl k 
3) m Pp d Yiuk, ¡ 
4) ijEijk xr f op kj  

  3. Which of the following characteristic 

is not seen in a creative child ? 

1) Divergent thinking 

2) Extreme curiosity 

3) High imaginations 

4) Conventional thoughts 

4. fu Eu fyf [k r es a l s d kS u&lh  f o'ks " kr k  
lk ek thd j. k d h iz fØ ;k ij ld k jkRe d  
izH kko u ghau ghau ghau gha Mk yr h gS \ 
1) l kek ftd  :i ls Loh Ñ r O;o gk j 
2) Lo hÑ r lke kf td  H kw fe d k,¡ fu H kku k 
3) l kek ftd  v f H ko` fÙ k d k  f odk l 
4) l kek ftd  iw o kZ xz gk s a d k f od kl 

  4. Which of the following characteristics 

does not have a positive effect on the 

process of socialization ? 

1) Socially approved behaviour 

2) Playing approved social roles 

3) Development of social attitude 

4) Development of social 

prejudices 
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5. o k; xk s V~Ld h  d k ^ leh iLF k fo d kl  {ks= * 
la nfH k Z r d jrk  gS % 
1) c Ppk Lor a = :i l s D; k  d j l d rk    

gS 
2) c Ppk Lo ra =  :i ls D; k  ugha d j 

l d rk  gS 
3) c Ppk fd lh Kk uh O; fDr d s fu ns Z'ku  ea s 

D; k d j l d rk  gS 
4) c Ppk fd lh Kk uh O; fDr d s fu ns Z'ku  es a 

H k h D; k ugh a d j ld r k gS 

  5. Vygotsky's 'Zone of Proximal 

Development' refers to : 

1) What the child can do 
independently 

2) What the child can't do 
independently 

3) What the child can do with 
guidance of knowledgeable 
person 

4) What the child can't do even 
under guidance of 
knowledgeable person 

6. ; fn d k sbZ f 'k{k kF kh Z v is f{kr m iy fC/k  gkfl y 
u gh au gh au gh au gh a  d j ikr k gS] rks m l d k d kj. k tk uus 

d s fy, fd l iz d kj d k ijh{k .k  f d ;k  t krk 
gS \ 
1) jpu kR ed 2) f unku kR ed 
3) m ip kjkR ed  4) ; ks xkR ed  

  6. If a learner does not  achieved the 

expected performance, what type 

of testing is done to find out the 

reason ? 

1) Formative 2) Diagnostic 

3) Remedial 4) Summative 

7. ^^ l ek os'ku  d s oy  fnO; ka x y ks xks a rd gh 
lh fe r ugha gS]  c fYd  bl d k v F kZ f d lh  H kh 
c Pps d k cf g" d kj u gks uk  H k h gSA ** 
 f 'k{kk  e s a le ko s'ku  dk  ; g v F kZ fd lds 
}k jk Li" V fd ; k x;k  gS \ 
1) , u0  l h0  ,Q 0  2005  
2) , u0  l h0  bZ0  v k j0  V h0  
3) ; w us Ld k s 
4) ; w fu ls Q 

  7. "Inclusion is not confined to the 

disabled but it also mean no 

exclusion of any child." 

 This meaning of inclusion in 

education has been clarified by : 

1) NCF 2005 

2) NCERT 

3) UNESCO 

4) UNICEF 

8. o ` f)  ,o a f od k l es a fd l  iz d kj d s ifjo rZ u 
gks r s gS a \ 
(a) 'k jh j d s v kd kj e sa if jo r Zu  
(b) 'k jh j d s v uq ik r es a ifjor Zu 
(c) iq jku s y {k. kk s a d k  f oy ks iu 
(d) u oh u fo'ks "k rk v ks a d k v f/k xzg. k 

l ghl ghl ghl gh   d w V d k  p;u  d hf t, % 
d w V % d w V % d w V % d w V %  
1) (a), (b) , o a (c)  

2) (a), (b) , o a (d) 
3) (a), (c) , o a (d) 

4) (a), (b), (c) ,o a (d) 

  8. Which type of changes occur in 

growth and development ? 

(a) Change in body size 
(b) Change in body proportion 
(c) Disappearance of old features 

(d) Acquisition of new features 

Choose the correct code : 
Code :  

1) (a), (b) & (c)  

2) (a), (b) & (d) 
3) (a), (c) & (d) 

4) (a), (b), (c) & (d) 
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9. fu Eu fyf [k r es a ls d kS u &l k d F ku  vf Hk izs j. kk 
d k  v f /kxe ij ld k jkRe d  izH k ko Li "V u ghau ghau ghau gha 
d jr k \ 
1) v f H kiz s j. k k l h[ kus d s O ;o gk j d k s {kh .k 

d jr h gS 
2) v f H kiz s j. k k lh [k us d s O; o gk j d ks 

f uf 'p r fn'kk  iz nku  d jr h gS 
3) v f H kiz s j. k k lh[ ku s ds O ;o gkj es a 

l fØ ; rk  y kr h gS 
4) v f H kiz s j. k k lh [k us d s O; o gk j d ks 

p ;u kRe d  cu kr h gS 

  9. Which of the following statements 

does not explain the positive 

impact of motivation on learning ? 

1) Motivation impairs learning 

behaviour 

2) Motivation provide definite 

direction to learning behaviour 

3) Motivation energizes learning 

behaviour 

4) Motivation makes learning 

behaviour selective 

10. d k s g~y cxZ d s uS fr d  fod kl fl) k a r ds 
v Ur xZ r uS f rd rk dh v oLF kk v ks a d k s muds 
Lr j ls lq e s fyr d hf t, % 

uS f r dr k d h  v o LF kkuS f r dr k d h  v o LF kkuS f r dr k d h  v o LF kkuS f r dr k d h  v o LF kk u S fr dr k u S fr dr k u S fr dr k u S fr dr k 
d k Lr jd k Lr jd k Lr jd k Lr j 

(a) v PNs vUr oS Z ; fDrd  l a ca/k 
 

(b) O; fDro kn ,o a fo fu e; 
(c) lk ek ftd  vu q ca/ k , oa 

o S ;f Dr d  v f/k d kj 
(d) lk oZH k kS fe d  fu ;e 

I 

 

II 

III 

l ghl ghl ghl gh  dw V d k p; u d hf t, %     
d w V % d w V % d w V % d w V %  
 (a) (b) (c)  (d) 
1)  I III II I 
2) III  II III I 
3) II III  I II 
4) II  I III III 

  
10. Match the stages of morality with 

their level, under the Moral 

Development theory of Kohlberg : 

Stages of Morality Level of 

Morality 

(a) Good interpersonal 

relations 

(b) Individualism and 

exchange 

(c) Social contracts and 

individual rights 

(d) Universal principles 

I 

 

II 

 

III 

Choose the correct code : 

Code :  

 (a) (b) (c)  (d) 

1)  I III II I 

2) III  II III I 

3) II III  I II 

4) II  I III III 

11. tc v f /kxed r kZ fd l h d k; Z d k s f cu k fd lh 
bPNk  ;k  mn~ns'; d s v iu s v ki gh l h[ k 
tk rk  gS] rk s mls d grs gS a % 
1) v f ojke  lh[ ku k 
2) iw . kZ lh [k uk 
3) v a'k lh [k uk  
4) iz kl a fxd  l h[ ku k 

  
11. When the learner learns a task 

automatically, without any desire 

or purpose, then it is called : 

1) Massed learning 

2) Whole learning 

3) Part learning 

4) Incidental learning 
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12. fu Eu fyf [k r es a l s d k Su&lk  d F ku  t Sfo d 
v fH k iz s jd k sa d s l a ca/k  es a l gh  u ghau ghau ghau gha  gS \ 
 
1) o s lko ZH kk S fed  gks r s gS a 
2) o s tUet kr gks r s gS a 
3) os thfor jgus ds fy, vko';d gksrs gSa 
4) o s O ;f Dr d h lef LF kf r ls la ca f /kr u gha 

gks r s gS a 

  
12. Which of the following statement is 

not true regarding biological 

motives ? 

1) They are universal 

2) They are inborn 

3) They are essential to survival 

4) They are not related with 

homeostatis in the individual  

13. fu Eu fyf [k r e s a ls d k Su &lh ijh{k k, ¡ lrr  
v kS j O; kid  ewY; ka d u  d k  v k/kk j gS a \ 
 
(a) f yf[ kr 
(b) e kS f [k d 
(c) O ;ko gkf jd  
(d) iz k; ks f xd  

l ghl ghl ghl gh  dw V d k p; u d hf t, %     
d w V % d w V % d w V % d w V %  
1) (a), (b) , o a (d)  

2) (a), (b) , o a (c) 
3) (a), (c) , o a (d) 

4) (a), (b), (c) ,o a (d) 

  
13. Which of the following 

examinations are the basis of 

continuous and comprehensive 

evaluation ? 

(a) Written 
(b) Oral 
(c) Behavioural 

(d) Practical 
Choose the correct code : 

Code :  

1) (a), (b) & (d)  

2) (a), (b) & (c) 
3) (a), (c) & (d) 

4) (a), (b), (c) & (d) 

14. fu Eu fyf [k r esa ls d kSu&l k d F ku c q f) 
ijh{k. k ks a d s l a nH k Z e s a lgh  ug haug haug haug ha  gS \ 
 
1) , ys Dts a M j d k ik l , yka x ijh{k .k  , d  

f u"iknu  ijh{k. k  gSA 
2) 'k kfCnd  ijh{k . k o S ;f Dr d  vF k ok 

l kew f gd  nks u ksa iz d kj ds gk s l d rs gS aA 
3) v f 'k f{k r O ;f Dr fu "iknu ijh{k . k u gha 

d j ld r sA 
4) v 'kk fCnd  ijh{k . kks a e s a c q f)  d k ek iu 

f p=k s a , o a v k Ñ fr ;k sa } kjk gksr k gSA 

  
14. Which of the following statement is 

not correct in reference to 

intelligence tests ? 

1) Alexander's Pass along test is a 

performance test. 

2) Verbal test can be either 

individual or group. 

3) Illiterate people cannot do 

performance test. 

4) In non-verbal tests intelligence 

is measured through pictures 

and figures. 
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15. fu Eu fyf [k r es a ls d kS u &lk ;q X e fxyQ k s MZ ds 
f= v k; ke h cq f )  fl ) ka r d s v Ur xZ r c q f)  d s 
r Ù o , oa mld s v k;k e d s la ca/ k esa lgh 

u gh au gh au gh au gh a  gS \ 

c q f )  d s r Ù oc q f )  d s r Ù oc q f )  d s r Ù oc q f )  d s r Ù o v k; kev k; kev k; kev k; ke 

1) bd kbZ 
2) la K ku 
3) e w Y; ka d u 
4) la c a/k 

mR ik n 
la fØ ;k 
la fØ ;k 
fo "k; o Lrq  

 

  
15. Which of the following pair is not 

correct regarding elements of 
intelligence and their dimension, 
under the Three Dimensional 
Intelligence theory of Guilford ? 

Elements of 

Intelligence 

Dimension 

1) Unit 

2) Cognition 

3) Evaluation 

4) Relations 

Product 

Operation 

Operation 

Content 
 

16. fu Eu fyf [k r es a ls d kSu &lh c ky d s fU nz r 
v f/ kxe  n` f"V d ks . k  d h iz eq[k  fo'k s "kr k u ghau ghau ghau gha  
gS \  
1) l kF kZ d  l h[ kus d s v o lj 

 
2) , d y f'k {k. k e kxZ 
3) l rr e w Y;k a d u 
4) l q yH k f'k {k. k ls fV a Xl  

  
16. Which one of the following is not a 

key feature of child centred 

learning approach ? 

1) Meaningful learning 

opportunities 

2) Single learning pathway 

3) Continuous assessment 

4) Accessible learning settings 

17. c .M w jk d s vu q lkj] iz s{k. k kRe d  lh [k us d h 
d k S u&lh  v Ur lZ a c a f/k r iz fØ ; k, ¡ u gh au gh au gh au gh a   gS a \ 
 
1) v o/kk uk Red  iz fØ ; k, ¡ 
2) /k kj. kk Red  iz fØ ; k, ¡ 
3) iz s j. kkR ed  iz fØ ; k, ¡ 
4) l a ;ks t uk Red  iz fØ ; k, ¡ 

  17. According to Bandura, which is not 

the interrelated processes of 

observational learning ? 

1) Attentional Processes 

2) Retentional Processes 

3) Motivational Processes 

4) Conjunctional Processes 

18. c .M w jk d s lke kf td  vf/k xe  f l) ka r d s 
v u ql kj] tc d ks bZ O;f Dr nw ljk s a d s O;o gkj 
d k s ns [ kd j v kS j nks gjkd j o gh  O ;o gk j  l h[ k  
ys r k gS] rk s bls D;k  d gr s gS a \ 
 
1) v u q dw yu 
2) v k Re&iz s{k. k 
3) e kW M fya x 
4) l keF ; Z iz R ;k 'k k 

  18. According to Bandura's Social 

Learning theory, what is it called 

when a person learns the same 

behaviour by observing and 

repeating the behaviour of others ? 

1) Adaptation 

2) Self-observation 

3) Modeling 

4) Efficacy expectation 
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19. LV uZ c xZ d s f= ra = fl ) kar d s vUr xZ r 
?k Vd h; cq f )  es a d kSu &lk mi &? kV d  
lf Eef yr u gh au gh au gh au gh a  gS \ 
1) e s Vk  ? kV d 
2) iz ;k s xk Re d  ? kV d  
3) f u"iknu  ? kV d  
4) K ku  l a xz g. k ¼ v tZ u½  ? kV d 

  
19. Which sub-component is not included 

in componential intelligence under 

the Sternberg Triarchic Theory ? 

1) Meta component 

2) Experimental component 

3) Performance component 

4) Knowledge acquisition component 

20. , d  v f /kxe f u; ks Z X; rk  tk s v ad xf. kr h; 
d k S'ky d s v f/k xz g. k d ks izH kkf or d jrh gS % 
1) f MLd S yd q fy ;k 2) f MLxz kf Q ;k  
3) f MLys f Dl;k  4) f MLe S fXu fl; k 

  
20. A learning disability that affects the 

acquisition of arithmetical skill is : 

1) Dyscalculia 2) Dysgraphia 

3) Dyslexia 4) Dysmagnisia 

21. Ý k ;M  d s e uksy Sa fxd  fo dkl f l) ka r d h 
ik¡ pk s a v o LF kk v ksa d s l ghl ghl ghl gh Ø e  d k  p;u 
d h ft, % 
1) e q [k ko LF kk  → fya x iz/kkuk oLF k k → 

v O; Drk oLF k k → xq nko LF kk  → 
t uu sf Unz ;k oLF k k 

2) xq nko LF kk → v O; Drko LF kk  → fya x 
iz/kk uk oLF k k → tuu s fUnz; ko LF kk → 
e q [k ko LF kk 

3) e q [k ko LF kk  → xq nko LF kk → fya x 
iz/kk uk oLF k k → v O ;Drk oLF k k → 
t uus f Unz ;k oLF k k 

4) v O; Drk oLF k k → xq nko LF kk  → 
e q [k ko LF kk  → tuu s fUnz ; ko LF kk → fya x 
iz/kk uk oLF k k 

  
21. Choose the correct sequence of 

the five stages of Freud's Psycho-

sexual development theory : 

1) Oral stage → Phallic stage → 

Latency stage → Anal stage → 

Genital stage 

2) Anal stage → Latency stage → 

Phallic stage → Genital stage 

→ Oral stage 

3) Oral stage → Anal stage → 

Phallic stage → Latency stage 

→ Genital stage 

4) Latency stage → Anal stage → 

Oral stage → Genital stage → 

Phallic stage 

22. iS oy ko d s 'k kL= h; vu q ca/k u v f/k xe 
fl ) ka r d s v uq l kj Lo kH k kfo d  ,o a vu q caf /kr 
m íh id ks a d s iz Lrq r hd j. k d k d k Su&lk  d kfyd 
Ø e  l h[ ku s d k s lok Z f/kd  izHk kfo r d js xk \ 
 
 
1) l ed k fyd  2) f oy a fc r 
3) l a d s r 4) i'p xke h 

  
22. According to Pavlov's Classical 

Conditioning theory of learning, 

which temporal sequence 

presentation of natural and 

conditioned stimuli will most affect  

learning ? 

1) Simultaneous  2) Delay 

3) Trace  4) Backward 
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23. fi; kts d s l aKku kRed  fod k l fl )k a r d h 
fd l v oLF k k es a v ewr Z f pa ru  rF kk 
lk ek U;h d j. k d h  {ke rk fo d fl r gks t krh   
gS \ 
1) l a os nh&xked  

2) iw o Z&l a fØ ; kRe d 

3) e w rZ&la f Ø ;k Re d 

4) v k S ip kfjd &la f Ø ;k Re d 

  
23. In which stage of Piaget's Cognitive 

Development theory does the 

ability of abstract thinking and 

generalization develop ? 

1) Sensory motor 

2) Pre-operational 

3) Concrete-operational 

4) Formal operational 

24. iz frH kk'k kyh  fo | kf F kZ ; ksa ds f y, fu Euf yf[ kr 
e s a ls d k Su&lh  'k S f{kd  O; o L F kk ugh augh augh augh a d h  t kuh 
pk fg, \ 

1) Lo ra =  iz k s ts DV d k; Z d s v olj 
 

2) R oj. k 

3) m ip kjkR ed  f'k {k. k 

4) l a o/k Z u d k; ZØ e 

  
24. Which of the following educational 

arrangements shouldn't be made 

for talented students ? 

1) Opportunities for independent 

project work 

2) Acceleration  

3) Remedial teaching 

4) Enrichment program 

25. fu Eu fyf [k r e s a ls d kSu&lk  le ko s'kh f'k{k k  
d k  , d  fl )ka r u gh au gh au gh au gh a   gS \ 

1) i`F kDd j. k d k f l) ka r 

2) l g; ks x d k fl) k a r 

3) f of o/k rk  d k t'u eu ku s d k fl) k a r 

4) f 'k{kk  d s v f /kd k j d k  f l) kar 

  
25. Which one of the following is not a 

principle of inclusive education ? 

1) Principle of segregation 

2) Principle of cooperation 

3) Principle of celebrating diversity 

4) Principle of right to education 

26. fu Eu fyf [k r es a ls d k S u&lk  r jhd k o S ;fDr d 
fH k Uur kv k sa d s v uq lk j f'k{k .k  d k l eF kZ u 

u gh au gh au gh au gh a d jr k \ 

1) f o| kfF k Z ;ks a d k cM + k lew g 

2) o S ;f Dr d  v uq ns'ku 

3) ikB ~;Ø e v uq dw y u 

4) f o| kfF k Z ;ks a d h {ke rkv k s a d k Kk u 

  
26. Which of the following way does 

not support the teaching according 

to individual differences ? 

1) Large group of students 

2) Individualized instruction 

3) Curriculum adaptation 

4) Knowledge of student's abilities 
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27. fo f'k "V v k o' ; d r kv ks a o kys c Ppks a d h 
v ko';d rk  d ks iw jk  d jus es a 'k S{kf. kd 
la LF k ku ks a d h D;k  H k w fed k u ghau ghau ghau gha   gS \  
1) f cu k H ks nH kko ds fo | ky ; es a iz os'k  ns uk  
2) l q yH k cq f u; knh lq f o/k k, ¡ iz nku  d ju k 
3) mudh fof'k"V vko';drk dks igpkuuk 

,oa eq [;/kkjk ls ckgj   j[kuk 
4) m Ugs a v k o'; d  lgk;r k ls o k, ¡ iz nku  

d ju k 

  
27. Which is not a role of educational 

institutions in addressing the needs 
of children with special need ? 

1) Admission to school without 
discrimination 

2) Provide accessible 
infrastructural facilities 

3) Identify their special needs 
and exclude them from 
mainstreaming 

4) Provide necessary support 
services 

28. fu Eu fyf [k r es a ls d kSu &l k d F ku  f od k l ds 
lU nH k Z e s a l gh  u ghau ghau ghau gha   gS \ 
 
1) f od k l if jiDor k ,o a v f/k xe  d k 

m Rikn gSA  
2) iz kja fH k d  f od k l d h r q yuk es a c kn d k 

f od k l v f/k d  xaH kh j gks r k gSA 
3) f od k l f lj ls iS j d h f n'k k e s a v kxs 

c <+ r k gSA 
4) f od k l d s U nz h ; v {k  ls N ksj d h  v ks j 

c <+ r k gSA 

  
28. Which of the following statement is 

not correct in context of 

development ? 

1) Development is the product of 

maturation and learning. 

2) Later development is more 

critical than early development. 

3) Development proceeds from 

head to foot. 

4) Development proceeds from 

central axis to extremities. 

29. le ko s'kh f'k {kk d k  f =v k; ke h fl) k a r fd l ds 
}k jk iz f rikf nr fd ; k x; k \ 
 
1) f xz f Q F k] d w ij , o a f jaxyk cs u 
2) xkV Z j , o a f yILd h  
3) d k W Qe Su  ,o a gy kgu 
4) y s oa s Ld h] Ms f ol , oa gw ij 

  

29. The three dimensional model of 

the inclusive education 

propounded by whom ? 

1) Griffith, Cooper and Ringlaben 

2) Gartuer and Lipsky 

3) Kauffman and Hallahan 

4) Levenski, Davis and Hooper 

30. ^^ l ke kth d j.k  d k  vF kZ gS lke kf td  l a ca/kks a 
e s a ifjiDo rk  v ku kA**  lk ek thd j. k dh ;g 
ifjH kk "kk  f d ld s }k jk nh  xbZ gS \ 
 
1) t kW u M ho h 2) xS js V 
3) l ks js Ulu 4) gjyk W d  

  
30. "Socialization means attaining of 

maturity in social relationships." 

This definition of socialization is 

given by whom ? 

1) John Dewey 2) Garret 

3) Sorenson 4) Hurlock 
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HkkxHkkxHkkxHkkx – II / PART – II 

Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½ / LANGUAGES (HINDI & ENGLISH) 

fgUnhfgUnhfgUnhfgUnh (HINDI) 

funsZ'k %funsZ'k %funsZ'k %funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr fodYi pqfu,A 

31. fo'ks"k.k ds laca/k esa dkSu&lk lgh lqesfyr 
ughaughaughaugha  gS \ 

1) Hkkjrh; & laKk ls fufeZr fo'ks"k.k 

2) ifo=re & fo'ks"k.k dh mÙkjkoLFkk 

3) ifjJeh & xq.kokpd fo'ks"k.k 

4) vkyL; & fo'ks"k.k ls fufeZr Hkkookpd  
laKk 

32. fdl fodYi esa 'kCn&;qXe dk lgh vFkZ Hksn 
ughaughaughaugha  gS \ 
1) ckt+h & nko] okth & ?kksM+k 
2) es/k & gou] es?k & ckny 
3) ekf.kD; & pchZ] ekf.kD;k & eNyh 
4) eqDrk & eksrh] eqfDr & eks{k 

33. dkSu&lk ;qXe laxr ughaughaughaugha  gS \ 
1) fHk{kqd & rRle 'kCn 
2) eLrd & rn~Hko 'kCn 
3) f[kpM+h & ns'kt 'kCn 
4) vekur & fons'kt 'kCn 

34. fuEufyf[kr esa ls fdl fodYi dk 'kCn 
laf/k&foPNsn dh n`f"V ls laxrlaxrlaxrlaxr  gS \ 
1) dq'kklu = dq'k $ vlu 
2) okrkZyki = okrkZ $ vyki 
3) tkudh'k = tud $ bZ'k  
4) y?kwfeZ = y?kq $ ÅfeZ 

35. fdl fodYi ds leLr in esa cgqozhfg 
lekl dk mnkgj.k ughaughaughaugha  gS \ 
1) 'ks"k'kk;h] {kikukFk 
2) nh?kZ'okl] ik"kk.kân; 
3) vk'kqrks"k] eanksnjh 
4) iap'kj] i'kqifr 

36. fdl fodYi dk 'kCn ^vu~* milxZ ls 
fufeZr ughaughaughaugha  gS \ 
1) vuarj 
2) vuhfr 
3) vfu"V 
4) vukpkj 

37. fuEu esa ls fdl fodYi ds 'kCn fons'kt 
izR;;ksa ls fufeZr gSa \ 
1) iYyfor] uhfyek 
2) vfM+;y] dlkoV 
3) fj'or[kksj] jkst+xkj 
4) >xM+kyw] gBhyk 

38. i;kZ;okph 'kCnksa ds laca/k esa dkSu&lk 
fodYi vuqfprvuqfprvuqfprvuqfpr  gS \ 
1) pUnzek & fgedj] ve`rka'kq] egrkc 
2) x#M+ & [kxukFk] o`"kHkh] Hknzk 
3) pUnu & xksjkspu] ey;t] likZokl 
4) xaxk & vejrfVuh] vfnztk] lqjlfj 
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39. okrZfud n`f"V ls fdl fodYi ds lHkh 'kCn 
'kq)'kq)'kq)'kq) gSa \ 
1) vH;kFkhZ] R;kSgkj 
2) ;kKoYD;] gLr{ksi 
3) eSFkyh] vfgY;k 
4) oSnsfg] okfil 

40. ^egkRek xka/kh us Hkkjr dks vkt+kn djk;kA* 
mDr okD; esa js[kkafdr 'kCn Øe'k% gSa % 
1) O;fDrokpd laKk rFkk tkfrokpd laKk 
2) tkfrokpd laKk rFkk Hkkookpd laKk 
3) O;fDrokpd laKk rFkk O;fDrokpd laKk 
4) Hkkookpd laKk rFkk O;fDrokpd laKk 

41. fuEu esa ls fdl eqgkojs dk vFkZ laxr ughaughaughaugha 
gS \ 
1) vius iSjksa ij [kM+k gksuk & vkRefuHkZj 

gksukA 
2) va/ks ds gkFk cVsj yxuk & fcuk iz;kl 

ds dksbZ pht+ izkIr dj ysukA 
3) ,d ?kkV ikuh ihuk & ,drk vkSj 

lfg".kqrk gksukA 
4) deku ls rhj fudy tkuk & fdlh dk 

Hksn [kqyukA 

42. fØ;k ds laca/k esa vuqfprvuqfprvuqfprvuqfpr fodYi pqfu, % 
1) deZ ds vk/kkj ij fØ;k ds ^ldeZd* 

,oa ^vdeZd* nks Hksn ekus tkrs gSaA 
2) lHkh izsj.kkFkZd fØ;k,¡ vdeZd gksrh 

gSaA 
3) ^firk iq= ls i= fy[kokrk gSA* mDr 

okD; esa izsj.kkFkZd fØ;k iz;qDr gqbZ gSA 
4) ^cfr;kuk*] ^yfB;kuk* ,oa ^viukuk* 

uke/kkrq fØ;k ds mnkgj.k gSaA 

43. loZuke ds laca/k esa dkSu&lk dFku vlR;vlR;vlR;vlR; 
gS \ 

1) iz;ksx ds vk/kkj ij loZuke ds Ng 
Hksn gSaA 

2) ^dksbZ* rFkk ^dqN* vfu'p;okpd 
loZuke 'kCn gSaA 

3) ^iq#"kokpd* loZuke ds pkj Hksn ekus 
tkrs gSaA 

4) ftl loZuke ls oDrk ds ikl vFkok 
nwj dh fdlh oLrq dk cks/k gksrk gS] 
mls fu'p;okpd loZuke dgrs gSaA 

44. fdl fodYi esa foijhrkFkZd ;qXe vlaxrvlaxrvlaxrvlaxr  
gS \ 

1) uwru & iqjkru 

2) nqjk'k; & lnk'k; 

3) nuqt & nkuo 

4) taxe & LFkkoj 

45. okD;ka'k ds fy, ,dy 'kCn ds laca/k esa 
vuqfprvuqfprvuqfprvuqfpr ;qXe gS % 

1) tks dkuwu dh n`f"V ls mfpr u gks & 
voS/k 

2) ftlesa dksbZ fNnz u gks & uhjU/kz 

3) leqnz esa yxus okyh vkx & nkokuy 

4) tks Hkkstu jksxh ds fy, mfpr gS & 
iF; 
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vaxzsthvaxzsthvaxzsthvaxzsth / ENGLISH 

Direction : Answer the following questions by selecting the most appropriate option.

46. Fill in the blank with the correct 

option : 

Note it down ……….. you should 

forget it. 

1) that 2) because of 

3) till 4) lest 

47. Choose the correct option that 

gives the meaning of the given 

idiom : 

 Spill the beans  

1) increase work 

2) face a great loss 

3) to leak a secret 

4) segregate 

48. Fill in the blank with the correct 

option : 

The Pak army turned hostile ……… 

ISIS. 

1) to 2) for 

3) at 4) with 

49. Choose the correct passive of the 

given sentence : 

    Please give me some more time. 

1) Some more time might please 

be given to me. 

2) Some more time may please 

be given to me. 

3) Some more time could please 

be given to him. 

4) Some more time should please 

be given to him. 

50. Which of the following options 

express the correct meaning of the 

sentence given below ? 

No sooner did I reach the college 

than the bell rang. 

1) The sooner I reached the 

college the earlier the bell 

rings. 

2) I reached the college and the 

bell was rang after. 

3) Although I reached the college 

the bell began to ring. 

4) As soon as I reached the 

college, the bell rang. 

51. Change the narration : 

He said, "What a charming sight !" 

1) He exclaimed with joy that it 

was a very charming sight. 

2) He exclaimed with joy that 

what a charming sight it is ! 

3) He told with joy that that is a 

charming sight. 

4) He said to me what a charming 

sight it is ! 

52. Fill in the blank with the correct 

form of the verb : 

I …………… a lot of calls today. 

1) had have 

2) has had 

3) have had 

4) had had 
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53. Which of the following sentences is 

the correct option to express a 

probable condition ? 

1) If I were a bird, I would fly to 

you. 

2) If you touch a live wire, you 

will get a shock. 

3) If you will read this book, you 

will learn grammar. 

4) If I had reached in time, I could 

have saved her. 

54. Choose the part of the sentence 

that is grammatically incorrect : 

He thought / he will be able to do / 

  A  B 

whatever he wanted / with his job. 

 C            D 

1) A 2) B 

3) C 4) D 

55. Choose the part of the sentence 

that is grammatically incorrect : 

The Jews were / most reluctant / 

  A  B 

to contribute / in the Palestinian 

                                       cause. 

 C       D 

1) A 2) B 

3) C 4) D 

56. The word 'slither' means : 

1) lick 2) venomous 

3) hinder 4) slide 

57. Fill in the blank with the correct 

form of verb : 

When I last …………. her, she was 

deeply involved in debt. 

1) have met 2) met 

3) has met 4) did met 

58. Fill in the blank with the correct 

option : 

How did the thief …… the padlock. 

1) open 

2) opened 

3) had opened 

4) had been opening 

59. Fill in the blank with the correct 

'Modal Auxiliary' : 

…………. you mind lending me 

your pen ? (Request) 

1) Should 2) Ought 

3) Would 4) Must 

60. Arrange the following jumbled 

options in the correct order and 

then choose the correct option : 

(A) is heartening  

(B) is going abroad 

(C) the news 

(D) that she 

1) C, D, B, A 

2) D, A, C, B 

3) D, C, B, A 

4) D, C, A, B 
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HkkxHkkxHkkxHkkx – III / PART – III 

lkekU; v/;;ulkekU; v/;;ulkekU; v/;;ulkekU; v/;;u / GENERAL STUDIES 

ek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKku / QUANTITATIVE APTITUDE, 

REASONING ABILITY AND G.K. & AWARENESS 

funsZ'k funsZ'k funsZ'k funsZ'k %%%% fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr    fodYi pqfu,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

61. ;fn A vius flj ds cy ij mÙkj fn'kk 
dh vksj viuk eq¡g djds [kM+k gS] rks 
mlds ck;sa gkFk dh fn'kk gS % 
1) mÙkj&iwoZ 2) if'pe  
3) iwoZ 4) mÙkj&if'pe  

  
61. If A stands on his head with his 

face towards North, in which 

direction will his left hand point ? 

1) North-East 2) West 

3) East 4) North-West 

62. ,d uko 20 fdeh nwjh dks /kkjk dh fn'kk 
esa ,d ?k.Vs esa rFkk mlh nwjh dks /kkjk dh 
foijhr fn'kk esa 2 ?k.Vs esa r; djrh gS] 
rks 'kkUr ty esa uko dh pky gS % 
1) 10 fdeh@?k.Vk  
2) 12 fdeh@?k.Vk 
3) 13 fdeh@?k.Vk  
4) 15 fdeh@?k.Vk 

  
62. A boat goes 20 km downstream in 

one hour and the same distance 

upstream in two hours. The speed 

of the boat in still water is : 

1) 10 km/h  

2) 12 km/h 

3) 13 km/h  

4) 15 km/h 

63. 15 O;fDr;ksa ds lewg esa 7 O;fDr fgUnh 
,oa 8 O;fDr vaxzsth i<+rs gSa tcfd 3 
O;fDr bu nksuksa esa ls fdlh dks Hkh ugha 
i<+rs gSa] rks buesa ls fdrus O;fDr fgUnh o 
vaxzsth nksuksa dks i<+rs gSa \ 
1) 0 2) 3 

3) 4 4) 5 

  
63. In a group of 15 people, 7 read 

Hindi, 8 read English, while 3 of 

them read none of these two. How 

many of them read Hindi and 

English both ? 

1) 0 2) 3 

3) 4 4) 5 

64. ,d d{kk esa 35 fo|kfFkZ;ksa esa] A dk LFkku 
uhps ls 7osa ij ,oa B dk LFkku Åij ls 
9osa LFkku ij gS rFkk C dk LFkku bu nksuksa 
ds Bhd e/; esa gks] rks C dk LFkku A ls 
dkSu&lk gS \ 
 
1) 9ok¡ 2) 10ok¡ 
3) 11ok¡ 4) 12ok¡ 

  
64. In a class of 35 students, A is 

placed 7th from the bottom 

whereas B is placed 9th from the 

top and C is placed exactly 

between these two. What is A's 

position from C ? 

1) 9th 2) 10th 

3) 11th 4) 12th 
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65. ,d fuf'pr dwV Hkk"kk esa 'CEG' dks 'TSR' 
rFkk 'FHJ' dks 'QPO' fy[kk tkrk gS] rks 
blh leku Hkk"kk esa 'IKM' dks fy[kk 
tk;sxk % 
1) NOP 2) NOL 

3) NMK 4) NML 

  
65. In a certain code language 'CEG' is 

written as 'TSR' and 'FHJ' is written 

as 'QPO', then in the same code 

language 'IKM' is written as : 

1) NOP 2) NOL 

3) NMK 4) NML 

66. v{kjksa EAML ls fdrus lkFkZd 'kCn cuk;s 
tk ldrs gSa \ 
1) 1 2) 2 

3) 3 4) 4 

  
66. How many meaningful words can 

be formed with the letter EAML ? 

1) 1 2) 2 

3) 3 4) 4 

67. ,d fu;fer cgqHkqt esa vkUrfjd dks.k ,oa 
cká dks.k dk vuqikr 7 : 2 gks] rks bl 
cgqHkqt dh Hkqtkvksa dh la[;k gS % 
 
1) 7 2) 8 

3) 9 4) 11 

  
67. The ratio of an interior angle to the 

exterior angle of a regular polygon 

is 7 : 2. The number of sides of the 

polygon is : 

1) 7 2) 8 

3) 9 4) 11 

68. fuEufyf[kr la[;k Üka`[kyk dk vxyk in 
Kkr dhft, % 
 2, 3, 10, 15, 26, ? 

1) 33 2) 34 

3) 35 4) 36 

  
68. Find the next term of the following 

number series : 

 2, 3, 10, 15, 26, ? 

1) 33 2) 34 

3) 35 4) 36 

69. uy A }kjk ,d VSad dks vdsys 8 ?k.Vs esa] 
uy B }kjk blh VSad dks vdsys 6 ?k.Vs esa 
Hkjk tk ldrk gSA ;fn nksuksa uyksa dks ,d 
lkFk 2 ?k.Vs ds fy, [kksyus ds i'pkr~ uy 
A dks cUn dj fn;k tk,] rks uy B }kjk 
cpk VSad dc Hkj tk,xk \ 
1) 2 ?k.Vs esa 2) 2½ ?k.Vs esa 
3) 3 ?k.Vs esa 4) 3½ ?k.Vs esa 

  
69. Pipe A alone can fill a tank in 8 

hours. Pipe B alone can fill it in 6 

hours. If both the pipes are opened 

and after 2 hours pipe A is closed, 

then pipe B will fill the tank in : 

 

1) 2 hours 2) 2½ hours 

3) 3 hours 4) 3½ hours 

70. ;fn fdlh fuf'pr iSVuZ esa 38 * 15 = 32, 
62 * 91 = 7 rFkk 74 * 81 = 29 gks] rks 
mlh iSVuZ esa 47 * 33 dk eku gS % 
1) 40 2) 41 

3) 38 4) 53 

  
70. In a certain pattern, if 38 * 15 = 32, 

62 * 91 = 7 and 74 * 81 = 29, then 
in the same pattern the value of      
47 * 33 is : 

1) 40 2) 41 
3) 38 4) 53 



  [ 17 / A ] 

[ Level-3 / 1306 ]  P. T. O. 

71. ;fn 17 fnlEcj] 2002 dks 'kfuokj Fkk] 
rks 22 fnlEcj] 2004 dks dkSu&lk fnu 
Fkk \ 
1) jfookj 2) 'kfuokj 
3) lkseokj 4) eaxyokj 

  
71. If it was Saturday on 17th 

December, 2002, what was the day 

on 22nd December, 2004 ? 

1) Sunday 2) Saturday 

3) Monday 4) Tuesday 

72. Js.kh dk vxyk in gS % 
 Z1A, X2D, V6G, T21J, ? 

1) R87M 2) R87N 

3) R88P 4) R88M 

  
72. The next of the series is : 

 Z1A, X2D, V6G, T21J, ? 

1) R87M 2) R87N 

3) R88P 4) R88M 

73. vaxzsth o.kZekyk esa] nh xbZ Jsf.k;ksa esa 
Øekxr v{kjksa ds e/; NksM+s x, v{kjksa dh 
la[;k ,d ls de gksrh tkrh gS] 
fuEufyf[kr Jsf.k;ksa esa dkSu&lh bl fu;e 
dk ikyu djrh gS \ 
1) DJOTV 2) DJOSV 

3) DJOSW 4) DIOSU 

  
73. In English alphabet, the number of 

letters skipped in between 

adjacent letters in the series is 

decreased by one. Which of the 

following series observes the rule ? 

1) DJOTV 2) DJOSV 

3) DJOSW 4) DIOSU 

74. x-v{k] y-v{k rFkk 1234 =+ yx  }kjk 
fufeZr f=Hkqt ds ckáo`Ùk dh f=T;k gS % 
 
1) 2 bdkbZ 2) 2.5 bdkbZ 
3) 3 bdkbZ 4) 4 bdkbZ 

  
74. The radius of the circumcircle of 

the triangle made by x-axis, y-axis 

and 1234 =+ yx  is : 

1) 2 unit 2) 2.5 unit 

3) 3 unit 4) 4 unit 

75. og lcls NksVh la[;k Kkr dhft,] ftls 
15463 esa tksM+us ij izkIr ;ksxQy 107 ls 
iw.kZr;k foHkkftr gks tkrk gS % 
 
1) 52 2) 55 

3) 71 4) 76 

  
75. Find the least number which must 

be added to 15463 so that the 

resulting number is exactly 

divisible by 107 : 

1) 52 2) 55 

3) 71 4) 76 

76. ikuh dks nw/k esa fdl vuqikr esa feykdj 
cspk tk, fd izkIr feJ.k dks Ø; ewY; ij 
cspus ij 20% dk ykHk gks \ 
1) 1 : 5 2) 2 : 5 

3) 3 : 5 4) 4 : 5 

  
76. What proportion of water must be 

added to milk to gain 20% by 

selling it at the cost price ? 

1) 1 : 5 2) 2 : 5 

3) 3 : 5 4) 4 : 5 
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77. ,d fuf'pr jkf'k dk 4% okf"kZd nj ij 
2 o"kksZa ds fy, pØo`f) C;kt ,oa ljy 
C;kt dk vuqikr gS % 
 
1) 52 : 51 2) 52 : 50 

3) 51 : 50 4) 53 : 50 

  77. The ratio of compound interest and 

simple interest on a certain sum at 

the rate of 4% per annum for 2 

years is : 

1) 52 : 51 2) 52 : 50 

3) 51 : 50 4) 53 : 50 

78. ;fn A, B rFkk C us 
5

6
:

3

4
:

2

7  ds 

vuqikr esa iw¡th yxkdj ,d O;kikj izkjEHk 
fd;kA 4 ekg i'pkr~ A us viuh iw¡th dk 
50% c<+k fn;kA ;fn o"kZ ds vUr esa dqy 
21,600 #i;s dk ykHk gqvk gks] rks bl 
ykHk esa ls B dk fgLlk gS % 

1) 2,400 #i;s 2) 3,600 #i;s 
3) 4,000 #i;s 4) 4,200 #i;s 

  
78. If A, B and C enter into a 

partnership with shares in the ratio 

5

6
:

3

4
:

2

7
. After 4 months, A 

increase his share by 50%. If the 

total profit at the end of one year 

be Rs. 21,600, then B's share in the 

profit is : 

1) Rs. 2,400 2) Rs. 3,600 
3) Rs. 4,000 4) Rs. 4,200 

79. ,d vkneh 20% gkfu ij ,d oLrq dks 
csprk gS] ;fn mlh oLrq dks 12 #i;s 
vf/kd esa csprk] rks mls 10% dk ykHk 
gksrkA ml oLrq dk Ø; ewY; gS % 
1) 22 #i;s 2) 30 #i;s 
3) 36 #i;s 4) 40 #i;s 

  
79. A man sold an article at a loss of 

20%. If he sells the article for Rs. 12 

more, he would have gained 10%. 

The cost price of an article is : 

1) Rs. 22 2) Rs. 30 

3) Rs. 36 4) Rs. 40 

80. 

a

a

a

aa

+

−
+

−

+
−−

1

1

1

½½½

 cjkcj gS % 

1) 
1−a

a
 2) 

2

1−a
 

3) 
1

2

−a
 4) 

a−1

2  

  
80. 

a

a

a

aa

+

−
+

−

+
−−

1

1

1

½½½

 is equal to : 

1) 
1−a

a
 2) 

2

1−a
 

3) 
1

2

−a
 4) 

a−1

2  

81. ,sfrgkfld xk¡o lqx vofLFkr gS % 
 
1) vEckyk ftys esa 
2) dq#{ks= ftys esa 
3) ;equkuxj ftys esa 
4) iapdqyk ftys esa 

  
81. Historical village Sugh is located 

in : 

1) Ambala district  

2) Kurukshetra district 

3) Yamunanagar district 

4) Panchkula district 
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82. fdl gfj;k.koh us vxLr] 2023 esa ekmaV 
,Yczql dks Qrsg fd;k \ 

1) lanhi fc'uksbZ  

2) jksgrk'k fc'uksbZ 

3) vt; f[kpM+  

4) eksfgr 

  
82. Which Haryanvi conquered Mount 

Elbrus in August, 2023 ? 

1) Sandeep Bishnoi 

2) Rohtash Bishnoi 

3) Ajay Khichad 

4) Mohit 

83. gfj;k.kk ds fuEufyf[kr jkT;ikyksa esa ls 
dkSu vkbZ lh ,l vf/kdkjh Fks \ 
1) Jh /keZohj 
2) Jh eqt+¶Qj gqlSu cuhZ 
3) Jh gfj vkuUn cjkjh 
4) Jh lqjthr flag la/kokfy;k 

  
83. Who among the following Governors 

of Haryana was an ICS officer ? 

1) Shri Dharma Vir  

2) Shri Muzaffar Hussain Burney 

3) Shri Hari Anand Barari 

4) Shri Surjit Singh Sandhawalia 

84. ekS;Zdkyhu Lrwi ds lk{; izkIr gq, gSa % 
 
1) Vksijk esa 2) fHkokuh esa 
3) Fkkuslj esa 4) jksgrd esa 

  

84. The evidence of Stupa of Mauryan 

period is found at : 

1) Topara 2) Bhiwani 

3) Thanesar 4) Rohtak 

85. xhrk t;arh lekjksg fdl ekg esa euk;k 
tkrk gS \ 
1) dkfrZd esa 2) ekxZ'kh"kZ esa 
3) vkf'ou esa 4) Jko.k esa 

  

85. Geeta Jayanti Samaroh is 

celebrated in the month of : 

1) Kartik 2) Margshirsh 

3) Ashvin 4) Shravana 

86. gfj;k.kk lssok dk vf/kdkj vk;ksx ds eq[; 
vk;qDr dkSu gaS \ 
 
1) Jh Vh0 lh0 xqIrk 
2) Jh fot; o/kZu 
3) Jh jkts'k [kqYyj 
4) Jh fodkl xqIrk 

  

86. Who is the Chief Commissioner of 

Haryana Right to Service 

Commission ? 

1) Shri T. C. Gupta 

2) Shri Vijay Vardhan 

3) Shri Rajesh Khullar 

4) Shri Vikas Gupta 
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87. lk/kq fu'pynkl ds ckjs esa fuEufyf[kr 
dFkuksa dks if<+, % 
(i) og nknw ds f'k"; FksA 
(ii) mUgksaus ,d iqLrd ^fopkj lkxj* 

ladfyr dh] tks laokn ds :i esa gSA 
 

lghlghlghlgh dwV dk p;u dhft, % 
1) dsoy dFku (i) lgh gSA 
2) dsoy dFku (ii) lgh gSA 
3) u rks dFku (i) vkSj u gh dFku (ii) 

lgh gSaA 
4) nksuksa dFku (i) vkSj (ii) lgh gSaA 

  

87. Read the following statements 

about Sadhu Nischal Das : 

(i) He was a Dadu's disciple. 

(ii) He compiled a book 'Vichar 

Sagar' which is in form of 

dialogue. 

Choose the correct code : 

1) Only statement (i) is correct. 

2) Only statement (ii) is correct. 

3) Neither statement (i) nor 

statement (ii) are correct. 

4) Both the statements (i) and (ii) 

are correct. 

88. gfj;k.kk esa fpadkjk iztuu dsanz dgk¡ fLFkr 
gS \ 
1) fiatkSj 2) ikuhir 
3) >Ttj 4) fHkokuh 

  

88. In Haryana, where the Chinkara 

Breeding Centre is located ? 

1) Pinjore 2) Panipat 

3) Jhajjar 4) Bhiwani 

89. gfj;k.kk jkT; lgdkjh Ñf"k ,oa xzkeh.k 
fodkl cksMZ fy0 dh LFkkiuk dc gqbZ \ 
 
1) tuojh] 1967  
2) uoEcj] 1966 
3) ekpZ] 1980  

4) tuojh] 1996 

  

89. When the Haryana State Co-

operative Agriculture and Rural 

Development Board Ltd. was 

established ? 

1) January, 1967  

2) November, 1966 

3) March, 1980  

4) January, 1996 

90. gfj;k.kk esa Hkkjrh; lwpuk izkS|ksfxdh 
laLFkku dgk¡ fLFkr gS \ 
 
1) lksuhir  

2) ikuhir 
3) vEckyk  

4) dq#{ks= 

  

90. Where in Haryana, the Indian 

Institute of Information Technology 

is located ? 

1) Sonipat  

2) Panipat 

3) Ambala  

4) Kurukshetra 
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HkkxHkkxHkkxHkkx – IV / PART – IV 

bfrgklbfrgklbfrgklbfrgkl / HISTORY 

funsZ'k %funsZ'k %funsZ'k %funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr    fodYi pqfu,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

91. Hkkjr ljdkj us fdl ns'kh fj;klr ds 
fo#) ^^vkWijs'ku iksyks** uked lSfud 
dk;Zokgh dh Fkh \ 
1) d'ehj  2) gSnjkckn 
3) twukx<+ 4) xksok  

  91. The Government of India had taken 

military action called "Operation 

Polo" against which Princely State ? 

1) Kashmir 2) Hyderabad 

3) Junagarh 4) Goa 

92. vaxzsth ds ^^fgLVªh** 'kCn dh mRifÙk fdl 
Hkk"kk ls gqbZ gS \  
1) ySfVu 2) ;wukuh  
3) teZu  4) Ýsap   

  92. The English word 'Histroy' has been 

derived from which language ?  

1) Latin  2) Greek  

3) German  4) French  

93. fuEu esa ls fdlls esuj O;oLFkk dk lEcU/k 
Fkk \  
1) lkearokn 2) okf.kT;okn 
3) Nkik[kkuk  4) uxjhdj.k 

  93. Which of the following was related 

to the Manor system ?  

1) Feudalism    2) Mercantilism  

3) Printing Press 4) Urbanization  

94. fuEu esa ls fdls lqHkk"kPkUnz cksl us 
vLFkk;h ljdkj esa foÙk foHkkx lkSaik Fkk \ 
 
1) ,l0 ,0 v¸;j  
2) y{eh LokehukFku 
3) izse lgxy  
4) ,0 lh0 pVthZ 

  94. Who among the following was 
entrusted with the Finance department 
in provisional government by Subhash 
Chandra Bose ? 
1) S. A. Ayer  

2) Laxmi Swaminathan  

3) Prem Sahgal  

4) A. C. Chatterjee 

95. fuEu esa ls dkSu&lk@ls bfrgkl f'k{k.k esa 
izn'kZukRed lkexzh dk mnkgj.k gS@gSa \  
A. ikB~;iqLrd B. ';keiV~V 
C. izfr:i  D. fp= 
dwV %dwV %dwV %dwV %    
1) dsoy A, C 2) dsoy A, B, D 
3) dsoy C 4) dsoy C, D 

  95. Which of the following is/are 
examples of Illustrations aids in 
History Pedagogy ?  

A. Text Book  B. Black Board  

C. Model  D. Picture  

Codes : 
1) Only A, C 2) Only A, B, D 

3) Only C 4) Only C, D 

96. fuEu esa ls fdl cUnkscLr ls ^lw;kZLr 
dkuwu* lEcfU/kr Fks \ 
1) LFkk;h cUnkscLr  
2) egyokM+h cUnkscLr 
3) jS;rokM+h cUnkscLr  
4) btkjk cUnkscLr 

  96. Which of the following settlement 

were 'Sunset Law' related to ? 

1) Permanent Settlement  

2) Mahalwari Settlement 

3) Ryotwari Settlement 

4) Ijara Settlement 
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97. fuEu esa ls fdlus crk;k Fkk fd ^^lEiw.kZ 
bfrgkl fopkjksa dk bfrgkl gS** \ 
1) Lisaxyj  2) ykWMZ ,DVu  
3) dkWfyaxoqM 4) vksd'kkWV 

  97. Who among the following has told 
"Complete History is the Histroy of 
Ideas" ? 

1) Spengler   2) Lord Acton  

3) Collingwood  4) Oakeshott 

98. fuEu esa ls fdl xzaFk esa 75 O;olk;ksa dk 
mYys[k feyrk gS \  
1) egkoLrq  2) fnO;onku 
3) fefyUniUgks 4) nh?kfudk; 

  
98. In which of the following texts 75 

occupations are mentioned ?  

1) Mahavastu 2) Divyavadana  

3) Milindpanho 4) Dighnikaya  
99. fuEu esa ls fdlls Kkr gksrk gS fd g"kZo/kZu 

us oYyHkh 'kkld /kzqolsu II dks ijkLr 
fd;k Fkk \  
 
1) ,sgksy vfHkys[k  
2) ckal[ksM+k rkezi= ys[k  

 

3) e/kqcu rkezi= ys[k  
 

4) uolkjh rkezi= ys[k 

  
99. From which of the following 

inscription it is known that 

Harshavardhana had defeated the 

Vallabhi ruler Dhruvasena II ? 

1) Aihole inscription  

2) Banskhera copper plate 

inscription  

3) Madhuban copper plate 

inscription  

4) Navsari copper plate 

inscription  
100. fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lghlghlghlgh 

gS@gSa \ 
A Ñ".knso jk; lqywo oa'k dk 'kkld FkkA 
B vkeqDr ekY;kn rfey Hkk"kk esa fy[kk 

xzaFk FkkA 
C fot;uxj iz'kklu esa vFkous jktLo 

foHkkx FkkA 
dwVdwVdwVdwV    %%%%    
1) dsoy A vkSj C  
2) dsoy B vkSj C 
3) dsoy C 
4) dsoy A vkSj B 

  100. Which of the following statement 
is/are correct ? 
A Krishnadev Ray was the ruler 

of Suluva dynasty.  
B Amukta Malyada was a text 

written in Tamil Language.  
C Athavane was the revenue 

department in Vijayanagara 
administration. 

Codes : 
1) Only A and C 
2) Only B and C 
3) Only C 
4) Only A and B 

101. fuEu esa ls dkSu&lk@ls ;qXe lghlghlghlgh lqesfyr 
gS@gSa \ 
A vkfnykckn fdyk % eqgEen fcu rqxyd  
B fljh uxj % dqrqcqn~nhu ,scd 
C ugj&,&cfg'r % vkxjk 
dwVdwVdwVdwV    %%%%    
1) A vkSj B 2) dsoy C 
3) A vkSj C 4) dsoy A  

  
101. Which of the following pairs is/are 

correctly matched ? 

A Aadilabad Fort : Muhammad- 
                                    Bin-Tughlaq 

B Siri City : Qutubuddin Aibak  

C Nahar-i-Bahist : Agra  
Codes : 
1) A and B 2) Only C 
3) A and C 4) Only A 
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102. leqnzxqIr us ßdU;ksik;uÞ dh uhfr fdlds 
izfr viukbZ Fkh \  
1) vkVfodksa 
2) fons'kh jkT;ksa  
3) x.kjkT;ksa  
4) mÙkjkiFk 

  
102. Samudra Gupta adopted 

"Kanyopayana" policy towards 

whom ? 

1) Atvikas  

2) Foreign states  

3) Republics 

4) Uttarapatha  
103. fuEufyf[kr esa ls dkSu&lk ;qXe vlaxrvlaxrvlaxrvlaxr    

gS \ 
1) Hkw vuqnkuksa dh lekfIr %  

               vykmn~nhu [kyth  
2) lekorZu Qly % eqgEen fcu rqxyd  
3) okf"kZd jktLo dk vuqeku % 

               x;klqn~nhu rqxyd  
4) _.k iaftdkvksa dks jn~n djuk % 

               fQjkst'kkg rqxyd  

  
103. Which of following pair is     

incorrect  ? 
1) The obolition of the land grant : 

                             Alauddin Khalji 
2) Rotation crops :  

           Muhammad-Bin-Tughlaq  
3) Estimate of Annual Revenue : 

                  Gayasuddin Tughlaq 
4) Rejection of Loan ledger 

    register : Firoz Shah Tughlaq 

104. lwph&lwph&lwph&lwph&I vkSj lwph&lwph&lwph&lwph&II dks lqesfyr dhft, 
vkSj lwph ds uhps fn, x, dwV dk mi;ksx 
djrs gq, lghlghlghlgh mÙkj dk p;u dhft, % 
 lwph&lwph&lwph&lwph&I        lwph&lwph&lwph&lwph&II    
A nkÅn i pank;u 
B dqrqcu ii e`xkorh 
C ea>u iii e/kqekyrh 
D mLeku iv fp=koyh 

dwVdwVdwVdwV    %%%%    
 A B C D 
1) (i) (ii) (iii) (iv) 
2) (i) (ii) (iv) (iii) 
3) (ii) (i) (iii) (iv) 
4) (i) (iii) (ii) (iv) 

 

  
104. Match the following List–I with List-II 

and select the correct answer using 

the codes given below the list :  

 List-I  List-II 

A Daud  i Chandayan 

B Kutuban  ii Mrigavati 

C Manjhan iii Madhumalti 

D Usman iv Chitrawali 

Codes    %%%%    
 A B C D 
1) (i) (ii) (iii) (iv) 
2) (i) (ii) (iv) (iii) 
3) (ii) (i) (iii) (iv) 
4) (i) (iii) (ii) (iv) 

 

105. gsfy;ksMksjl fuEu esa ls fdldk jktnwr   
Fkk \ 
1) ,af'k;kyflnl 2) ,f.V;ksdl 
3) feusUMj  4) MsesfVª;l 

  105. Who among the following was the 

ambassador of Heliodorus ? 

1) Antialcidas  2) Antiyokas  

3) Menander  4) Demetrius  
106. Hkhejko vEcsMdj us 1924 esa ^cfg"Ñr 

fgrdkfj.kh lHkk* dh LFkkiuk dgk¡ dh Fkh \ 
 
1) cEcbZ 2) iwuk 
3) lrkjk 4) lksykiqj 

  
106. Where did Bhimrao Ambedkar 

established 'Bahishkrit Hitakarini 

Sabha' in 1924 ? 

1) Bombay  2) Pune 

3) Satara  4) Solapur 
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107. fuEu esa ls fdl 'kkld us ^^lkWfyMl** 
uked flDdk pyk;k Fkk \  
1) vkxLVl   
2) Mk;ksDyhf'k;u  
3) dkWULVSuVkbu I  
4) fFk;ksMksfl;l II 

  107. Which of the following rulers 

introduced a "Solidus" coins ? 

1) Augustus     

2) Diocletian  

3) Constantine I   

4) Theodosius II 

108. fuEu esa ls fdlus ;wuku esa ^^vkWLVªsflT+e 
fu;e** izkjEHk fd;k Fkk \  
1) lksyu   
2) DyhLFksfut+ 
3) FksfeLVksfDyt+   
4) isfjfDyt+ 

  108. Who among the following 
introduced "Ostracism rule" in 
Greece ? 

1) Solan    

2) Cleisthenes  

3) Themistocles  

4) Pericles  

109. felz lH;rk esa lksfFkd pØ fdrus o"kksZa dk 
Fkk \ 
1) 1160 o"kZ  
2) 1260 o"kZ 
3) 1360 o"kZ  
4) 1460 o"kZ 

  109. How many years was the Sothic 

cycle in Egyptian civilization ? 

1) 1160 years   

2) 1260 years 

3) 1360 years  

4) 1460 years 

110. 1891 ds lEefr vk;q vf/kfu;e esa fdrus 
o"kZ ls de vk;q dh dU;kvkas ds fookg ij 
jksd yxk nh xbZ Fkh \  
1) 12 o"kZ 2) 14 o"kZ 
3) 16 o"kZ 4) 18 o"kZ 

  
110. The marriage of girls below how 

many years of age was banned in 

the Age of Consent Act of 1891 ? 

1) 12 years  2) 14 years 

3) 16 years  4) 18 years 

111. fuEu esa ls fdl dkaxzsl dk;Zdkfj.kh lfefr 
ds izLrko ls vlg;ksx vkUnksyu can fd;k 
x;k Fkk \ 
1) ckjnksyh 2) xksj[kiqj 
3) dydÙkk 4) vgenkckn  

  
111. Which of the following resolution of 

the Congress working committee 
had stopped the Non-cooperation 
Movement ? 
1) Bardoli  2) Gorakhpur 

3) Calcutta  4) Ahmedabad 

112. fuEufyf[kr dks lgh dkyØe esa O;ofLFkr 
dhft, vkSj uhps fn, x, dwV esa ls lghlghlghlgh 
mÙkj dk p;u dhft, % 
A lsMyj vk;ksx 
B gkVksZx vk;ksx 
C lktsZaV vk;ksx 
dwVdwVdwVdwV    %%%%    
1) B, A, C 2) C, A, B 
3) A, C, B  4) A, B, C 

  
112. Arrange the following in correct 

chronological order and select the 
correct answer from the codes 
given below : 
A Sadler Commission  
B Hartog Commission  
C Sargent Commission  
Codes : 

1) B, A, C 2) C, A, B 
3) A, C, B  4) A, B, C 
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113. fuEufyf[kr dFkuksa eas ls dkSu&lk@ls lghlghlghlgh 
gS@gSa \  
A lekgÙkkZ dk osru 24000 i.k FkkA  

 
B #fEeu~nsbZ vfHkys[k esa dj dk mYys[k 

feyrk gSA 
C esxLFkuht ds vuqlkj ikVyhiq= ds 

uxj iz'kklu dh izR;sd lfefr esa Ng 
lnL; FksA 

dwVdwVdwVdwV    %%%%    
1) dsoy A  2) A vkSj B 

3) dsoy C 4) A vkSj C    

  
113. Which of the following statements 

is/are correct ? 

A Samaaharta's salary was 24000 

Panas.  

B The tax is mentioned in 

Rummindei Inscription.  

C According to Megasthenes, 

each committee of the City 

Administration of Pataliputra 

had six members.  

Codes : 

1) Only A 2) A and B 

3) Only C 4) A and C 

114. eqxydky esa c;kuk vkSj lj[kst fuEu esa 
ls fdl mRiknu ds fy, izfl) Fks \ 
 
1) rEckdw  2) dikl 
3) xUuk 4) uhy  

  
114. Bayana and Sarkhej was famous for 

which of the following production 

during Mughal Period ? 

1) Tobacco 2) Cotton  

3) Sugarcane  4) Indigo 

115. fuEu esa ls fdl jkT; esa e/;ik"kk.k dkyhu 
LFkyksa dk Vsjh&lewg vofLFkr gS \  
1) e/; izns'k esa 
2) xqtjkr esa 
3) rfeyukMq esa 
4) dukZVd esa  

  
115. In which of the following states is 

the Teri-group of Mesolithic sites 

located ? 

1) Madhya Pradesh 

2) Gujarat 

3) Tamil Nadu 

4) Karnataka 

116. ^uklnh; lwDr* dk fuEu esa ls fdl osn esa 
mYys[k feyrk gS \ 
1) _Xosn 2) ;tqosZn  
3) lkeosn 4) vFkoZosn  

  116. "Nasadiya Sukta" is mentioned in 

which of the following Vedas ?  

1) Rigveda  2) Yajurveda  

3) Samaveda 4) Atharvaveda 

117. fuEu esa ls [ksrh ds fy, mi;qDr Hkwfe 
dkSu&lh gS \  
1) {ks= 2) okLrq 
3) fly 4) vizgr  

  
117. Which of the following land is 

suitable for Farming ? 

1) Kshetra  2) Vastu  

3) Sila  4) Aprahat  

118. fuEu esa ls fdl 'kkld us vofUr dks 
thrk Fkk \  
1) fcfEclkj 2) vtkr'k=q 
3) f'k'kqukx 4) dkyk'kksd 

  118. Which of the following rulers 

conquered Avanti ? 

1) Bimbisara  2) Ajatshatru 

3) Shishunaga  4) Kalashoka  
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119. lwph&lwph&lwph&lwph&I vkSj lwph&lwph&lwph&lwph&II dks lqesfyr dhft, 
vkSj lwph ds uhps fn, x, dwV dk mi;ksx 
djrs gq, lghlghlghlgh mÙkj dk p;u dhft, % 
 lwphlwphlwphlwph–I  lwphlwphlwphlwph– II 
A gsepUnz  i ifjf'k"V ioZ 
B ftulsu  ii vkfniqjk.k 
C m/kksru lwjh iii  dqoy;ekyk 
D gfjHknz lwjh iv lejkfnR;&dFkk 
dwV dwV dwV dwV %%%%    
 A B C D 
1) (i) (iv) (iii) (ii) 
2) (iv) (ii) (iii) (i) 
3) (i) (iv) (ii) (iii) 
4) (i) (ii) (iii) (iv) 

 

  
119. Match the following List–I with List–II 

and select the correct answer using 

the codes given below the list : 

 List–I  List– II 

A Hemchandra  i Parishishta Parva  

B Jinsena  ii Aadi Purana  

C Udhotan Suri  iii  Kuvalayamala  

D Haribhadra Suri iv Samraditya-katha 

Codes    %%%%    
 A B C D 

1) (i) (iv) (iii) (ii) 

2) (iv) (ii) (iii) (i) 

3) (i) (iv) (ii) (iii) 

4) (i) (ii) (iii) (iv) 
 

120. fuEu esa ls fdlus ^^Qrok&,&tgkankjh** xzaFk 
fy[kk Fkk \  
1) feugkt&ml&fljkt 
2) glu fut+keh  
3) ft+;kmn~nhu cjuh  
4) 'kEl fljkt vQhQ 

  120. Which of the following was wrote 

"Fatwa-i-Jahandari" ? 

1) Minhaj-us-Siraj  

2) Hasan Nizami  

3) Ziauddin Barani  

4) Shams Siraj Afif  

121. fuEu esa ls fdlus lafo/kku lHkk esa 
^^mn~ns'; izLrko** is'k fd;k Fkk \  
 
1) jktsUnz izlkn 
2) tokgjyky usg: 
3) Hkhejko vEcsMdj  
4) ds0 Vh0 'kkg 

  
121. Who among the following had 

presented "the objective resolution" 

in the constituent assembly ? 

1) Rajendra Prasad  

2) Jawaharlal Nehru  

3) Bhimrao Ambedkar 

4) K. T. Shah 

122. fuEu esa ls dkSu&lh is: ds badk yksxksa dh 
Hkk"kk Fkh \  
1) dqt+dks 2) dkyesdkd  
3) rsiksdYyh  4) Dospqvk 

  122. Which of the following was the 
language of the Inca people of   
Peru ?  

1) CUZCO  2) Calmecac  

3) Tepochcalli  4) Quechua  

123. fuEu esa ls fdls 1912 ds fnYyh "kM;U= 
dsl esa Qkalh dh ltk ughaughaughaugha gqbZ Fkh \ 
1) vo/k fcgkjh 
2) cky eqdqUn  
3) clUr dqekj 
4) cyjkt 

  
123. Who among the following was not 

sentenced to death in the Delhi 
Conspiracy case of 1912 ? 
1) Awadh Bihari  

2) Bal Mukund 

3) Basant Kumar 

4) Balraj 
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124. fuEu esa ls fdlus 1897 bZ0 esa osYch 
vk;ksx ds lEeq[k izfrosnu izLrqr fd;k   
Fkk \  
1) nknk HkkbZ uSjksth  
2) vkj0 lh0 nÙk 
3) xksiky Ñ".k xks[kys 
4) ykyk yktir jk; 

  
124. Who among the following 

presented the report before the 

Welby Commission in 1897 ? 

1) Dadabhai Naoroji 

2) R. C. Dutta  

3) Gopal Krishna Gohkale 

4) Lala Lajpat Rai 

125. fuEu esa ls fdlus phu esa ßuhyh dqrhZ nyÞ 
dk xBu fd;k Fkk \  
1) P;kax dkbZ 'ksd  
2) ekvksRls rqax 
3) lu;kr lsu  
4) pwrsg  

  125. Who among the following formed 

"The Blue Shirt Party" in China ? 

1) Chiang Kai Shek  

2) Mao-Tse-Tung  

3) Sunyat Sen  

4) Chuteh  

126. fuEu esa ls dkSu eslksiksVkfe;k lH;rk ls 
lEcfU/kr ughaughaughaugha Fkk \ 
1) ftXxqjkr  
2) dhyk{kj ¼D;wuhQkeZ½ 
3) v[kukVu 
4) ,eksjkbV 

  126. Which of the following was not related 

to Mesopotamian civilization ? 

1) Ziggurat  

2) Cuneiform  

3) Akhnatan  

4) Amorite  

127. ^^rgt+hc&my&v[kykd** uked if=dk dk 
izdk'ku fdlus fd;k Fkk \ 
1) eksgEen bdcky 
2) lj lS¸;n vgen [kk¡ 
3) ekSykuk vkt+kn  
4) jktk jke eksgu jkW;  

  127. Who published the magazine 

"Tehzeeb-ul-Akhlaq" ? 

1) Mohammad Iqbal 

2) Sir Sayed Ahmad Khan  

3) Maulana Azad  

4) Raja Ram Mohan Roy 

128. fuEu esa ls fdl vo/k ds uokc us laf/k 
djds cukjl ij vaxzstksa dh loksZPprk 
Lohdkj dj yh Fkh \  
1) 'kqtk&mn~&nkSyk  
2) vklQ&mn~&nkSyk  
3) lvknr vyh [kku II 
4) okftn vyh 'kkg  

  
128. Which of the following Nawab of 

Awadh had accepted the 
supremacy of the British over 
Banaras by making a treaty ? 
1) Shuja-ud-Daula  
2) Asaf-ud-Daula  
3) Saadat-Ali Khan II 
4) Wajid Ali Shah 

129. fuEu esa ls dkSu&lk lw;Z efUnj ughaughaughaugha gS \ 
  
1) ekrZ.M efUnj 
2) eks<sjk efUnj  
3) dks.kkdZ efUnj 
4) fdjkMw efUnj 

  
129. Which of the following is not a Sun 

Temple ? 

1) Martand Temple 

2) Modhera Temple 

3) Konark Temple 

4) Kiradu Temple 
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130. fuEu esa ls fdl lqYrku ds 'kkludky esa 
cxnkn ds [kyhQk us fnYyh lYrur dks 
Lora= fLFkfr dh ekU;rk iznku dh Fkh \  
1) dqrqcqn~nhu ,scd  
2) bYrqrfe'k  
3) vykmn~nhu [kyth 
4) fQjkst'kkg rqxyd 

  
130. During the reign of which of the 

following Sultans, the Caliph of 
Baghdad recognized the 
independent status of Delhi 
Sultanate ?  

1) Qutubuddin Aibak  

2) Iltutmish  

3) Alauddin Khalji 

4) Firoz Shah Tughlaq 
131. ^dFkkoRFkq* dk ladyu fdl ckS) laxhfr esa 

fd;k x;k Fkk \ 
1) izFke ckS) laxhfr  
2) f}rh; ckS) laxhfr  
3) r`rh; ckS) laxhfr 
4) prqFkZ ckS) laxhfr 

  
131. In which Buddhist Council 

'Kathavatthu' was compiled ? 

1) The first Buddhist Council 

2) The second Buddhist Council 

3) The third Buddhist Council 

4) The fourth Buddhist Council 

132. fuEu esa ls dkSu&lk@ls ;qXe lghlghlghlgh lqesfyr 
gS@gaS \ 
A vadksjokV % fo".kq efUnj  
B cksjkscqnqj eafnj % dEcksfM;k  
C ok;qax % Nk;k ukVd 
dwVdwVdwVdwV    %%%%    
1) dsoy A 2) A vkSj B 
3) dsoy C 4) A vkSj C 

  
132. Which of the following pairs is/are 

correctly matched ?  

A Angkorwat : Vishnu Temple 

B Borobudur Temple : Cambodia  

C Vayung : Shadow Play 

Codes : 

1)  Only A 2)  A and B 

3)  Only C 4)  A and C 

133. tQ ðj[kkuh] tgkaxhjh] [kklk vkSj pkSrj 
vkfn fuEu esa ls fdlls lEcfU/kr Fks \ 
 
1) diM+k  
2) b= 
3) rkacs ds crZu  
4) dkxt  

  
133. Jafarkhani, Jahangiri, Khasa and 

Choutar etc. belonged to which of 

the following ? 

1) Clothes  

2) Perfume  

3) Copper utensils  

4) Paper  
134. fuEu esa ls dkSu&lk@ls ;qXe lghlghlghlgh lqesfyr 

gS@gSa \  
A dksby  % vyhx<+ 
B ckbl [oktk dh pkS[kV % vtesj 
C f'kfoj uxj % cfuZ;j 
dwVdwVdwVdwV    %%%%    
1) dsoy B 2) dsoy A vkSj C 
3) dsoy C 4)  A, B vkSj C 

  134. Which of the following pairs is/are 

correctly matched ? 

A Koil : Aligarh 

B Bais Khwaja ki 

                       Chaukhat 

 

: 

 

Ajmer 

C Camp City : Bernier 

Codes : 

1) Only B 2) Only A and C 

3) Only C 4) A, B and C 
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135. fuEu esa ls 'kkgtgk¡ }kjk da/kkj esa rhljk 
vfHk;ku fdlds usr̀Ro esa Hkstk Fkk \  
1) nkjk 2) eqjkn 
3) vkSjaxtsc 4) 'kqtk  

  135. Who among the following sent the 
third expedition to Kandhar by 
Shahjahan ? 
1) Dara  2) Murad  
3) Aurangzeb 4) Shuja  

136. tkiku esa esbZth lafo/kku dc ykxw fd;k 
x;k Fkk \  
1) 1868 2) 1872 

3) 1881 4) 1889  

  136. When was the Meiji Constitution 

introduced in Japan ? 

1) 1868 2) 1872 

3) 1881 4) 1889 

137. fuEu esa ls fdlus ^^MkWu fDodtkV** dh 
jpuk dh Fkh \ 
1) ekfVZu ywFkj  2) nkars  
3) pkSlj  4) ljoSaVht   

  137. Who among the following 

composed "Don-Quixote" ? 

1) Martin Luther 2) Dante  

3) Chaucer    4) Cervantes  

138. fuEu esa ls fdl ns'k ds lkFk 1946 ls 
1954 ds e/; fo;ruke us la?k"kZ fd;k   
Fkk \  
1) Ýkal 2) tkiku  
3) vesfjdk  4) baXyS.M  

  138. With which of the following 

countries did Vietnam fight 

between 1946 to 1954 ? 

1) France  2) Japan  

3) America  4) England  

139. fuEu esa ls dkSu bfrgkl esa thouxkFkk 
i)fr dk izoÙkZd Fkk \ 
1) dkyZ ekDlZ 2) dkykZby 
3) bZ0 ,p0 dkj  4) LVsuyh gky 

  139. Who among the following was the 
originator of the biographical 
method in history ? 

1) Karl Marx  2) Carlyle  

3) E. H. Car  4) Stanley Hall  

140. fuEu esa ls fdlls 1857 ds fonzksg esa 
t+hur egy dk lEcU/k Fkk \  
1) fnYyh ls  2) y[kuÅ ls  
3) dkuiqj ls  4) QSt+kckn ls  

  140. Zeenat Mahal was associated with 
which of the following in the Revolt 
of 1857 ? 
1) Delhi  2) Lucknow  
3) Kanpur 4) Faizabad  

141. 1930 eas izLrqr gkbM~l lsl tk¡p lfefr 
dk izfrosnu fdl m|ksx ls lEcfU/kr Fkk \ 
1) phuh m|ksx 
2) yksgk ,oa bLikr m|ksx 
3) lwrh oL= m|ksx 
4) peM+k m|ksx 

  141. The report of the Hides Cess 
Inquiry Committee presented in 
1930 was related to which Industry ?  
1) Sugar Industry  
2) Iron and Steel Industry 
3) Cotton Textile Industry 
4) Leather Industry 

142. fuEufyf[kr esa ls dkSu&lk ;qXe vlaxrvlaxrvlaxrvlaxr gS \  
1) rqeu % nl gtkj lSfudksa dh 

bdkbZ 
2) ;ke % lsukifr 
3) fdfjyrkbZ % ifj"kn~ 
4) ;kl % fof/k lafgrk 

 

  142. Which of the following pairs is 
incompatible ? 
1) Tumen : Unit of ten thousand 

soldier 

2) Yama : Commander 
3) Quriltai : An Assembly 
4) Yasa : Code of Law 
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143. fuEu esa ls fdldk ^^ftt eqgEen 'kkgh** 
dh jpuk esa ;ksxnku Fkk \  
1) 'kkg vkye II 
2) lQnjtax  
3) lwjtey 
4) lokbZ t;flag  

  
143. Who among the following 

contributed to the composition of 
"Jij Muhammad Shahi" ?  
1) Shah Alam II 
2) Safdarjung  
3) Surajmal 
4) Sawai Jai Singh  

144. fuEu esa ls 'kkg eksgEen xkSl dh njxkg 
dgk¡ fLFkr gS \  
 
1) ek.Mw 2) cqjgkuiqj  
3) xqycxkZ 4) Xokfy;j  

  
144. Where among the following was the 

Dargah of Shah Mohammad Ghaus 

located ?  

1) Mandu 2) Burhanpur 

3) Gulbarga  4) Gwalior 

145. fuEu esa ls fdl jktoa'k ls ^likny{k* dk 
lEcU/k Fkk \  
1) izfrgkj  2) pkSgku  
3) ijekj  4) jk"VªdwV  

  145. Which of the following dynasties 

was related to Sapadalaksha ? 

1) Pratihara  2) Chauhan  

3) Parmar  4) Rashtrakuta  
146. fuEu esa ls fdl pksy 'kkld ds mÙkjes#j 

vfHkys[k esa xzkeh.k iz'kklu dk fooj.k 
feyrk gS \  
1) fot;ky; 2) ijkUrd - I 
3) jktsUnz - I 4) jktjkt - I  

  146. Which of the following Chola rulers, 
details of Rural Administration are 
founded in the Uttaramarur 
inscription ? 
1) Vijayalaya  2) Parantaka - I 
3) Rajendra - I 4) Rajaraja - I 

147. fuEu esa ls fdl o"kZ f'kokth dk 
jkT;kfHk"ksd lekjksg gqvk Fkk \  
1) 1670 esa 2) 1672 esa 
3) 1674 esa 4) 1676 esa  

  
147. In which of the following year was 

the Coronation Ceremony of Shivaji 
held ?  
1) 1670 2) 1672 
3) 1674 4) 1676 

148. dfo jkt'ks[kj fdl jktoa'k ds njckj esa 
Fkk \  
1) iky 2) izfrgkj  
3) jk"VªdwV  4) rksej  

  
148. Poet Rajshekhar was in the court of 

which dynasty ?  

1) Palas  2) Pratiharas  

3) Rashtrakutas 4) Tomar  

149. fuEu esa ls fdl LFky ls ^vkj&37 
dfczLrku* feyk Fkk \ 
1) gM+IIkk 2) eksgutksnM+ks 
3) /kksykohjk 4) dkyhcaxk 

  149. Which of the following site, "The 

Cemetery R-37" was found ?  

1) Harappa  2) Mohenjodaro  

3) Dholavira  4) Kalibanga 

150. fuEu esa ls ^jkl&iapk/;k;h* ds ys[kd dkSu 
gSa \ 
1) lwjnkl 2) jl[kku 
3) uUnnkl 4) dqEHkunkl  

  
150. Who among the following is the 

author of 'Raas Panchadhyayi' ? 

1) Surdas  2) Raskhan  

3) Nand Das  4) Kumbhandas 
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6. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys ckWy IokbaV iSu ls 
iw.kZr;k Hkjuk gS] tSlk fd uhps fn[kk;k x;k gS % 

1    �    3    4 
vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn mÙkj okys [kkus dks 
fuEu izdkj ls Hkjrs gSa % 

�    �    �    � 
;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk mÙkj xyr ekuk 
tk,xkA 

  6. Answers   to  questions  in answer sheet are  to  be  given by 

darkening complete circle using Black ball point pen as shown 

below : 

1    �    3    4 

The answer will be treated wrong, if it is marked, as given below : 

�    �    �    � 

If you fill more than one circle it will be treated as a wrong 

answer. 

7. jQ dk;Z iz'u&iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh txg ij gh djsaA / Rough work should be done only in the space provided in the 

Question Booklet for the same. 

8. lHkh mÙkj dsoy OMR mÙkj i=d ij gh vafdr djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd ¼lQsn ¶Y;wM½ dk iz;ksx fuf"k) gSA / 
The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not 

allowed for changing answers. 

9. izR;sd iz'u ds fy, fn, x, pkj fodYiksa esa ls mfpr fodYi ds fy, OMR mÙkj i=d ij dsoy ,d o`Ùk dks gh iwjh rjg dkys ckWy IokbaV iSu ls HkjsaA 
,d ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk ldrk gSA / Out of the four alternatives for each question, only one circle for the most 

appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is 

not allowed to be changed. 

10. vH;FkhZ lqfuf'pr djsa fd bl mÙkj i=d dks eksM+k u tk, ,oa ml ij dksbZ vU; fu'kku u yxk,¡A vH;FkhZ viuk vuqØekad mÙkj i=d esa fu/kkZfjr LFkku 
ds vfrfjDr vU;= u fy[ksaA / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the 

Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet. 

11. iz'u&iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd fdlh Hkh ifjfLFkfr esa [iz'u&iqfLrdk ,oa mÙkj i=d ds Øekad esa fHkUurk dh fLFkfr dks 
NksM+dj] nwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhA / Handle the Question Booklet and Answer Sheet with care, as under no 

circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not 

be provided.] 

12. iz'u&iqfLrdk@mÙkj i=d esa fn, x, Øekad dks vH;FkhZ lgh rjhds ls gLrk{kj pkVZ esa fy[ksaA / The candidates should write the correct Number as 

given in the Question Booklet/Answer Sheet in the Signature Chart. 

13. vH;FkhZ dks ijh{kk gkWy@d{k esa izos'k i= vkSj igpku i= ds vfrfjDr fdlh izdkj dh ikB~;&lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh ifpZ;k¡] istj] eksckby 
Qksu] bysDVªkWfud midj.k ;k fdlh vU; izdkj dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA / Candidates are not allowed to carry any 

textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit 

Card and Identity Card inside the examination hall/room. 

14. i;Zos{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk izos'k dkMZ [jksy ua0] vkSj igpku i= fn[kk,¡A / Each candidate must show on demand his/her 

Admit Card [Roll No.] and identity card to the Invigilator. 

15. dsUnz v/kh{kd ;k i;Zos{kd dh fo'ks"k vuqefr ds fcuk dksbZ vH;FkhZ viuk LFkku u NksMa+sA / No candidate, without special permission of the 

Superintendent or Invigilator, should leave his/her seat. 

16. dk;Zjr i;Zos{kd dks viuk mÙkj i=d fn, fcuk ,oa gLrk{kj pkVZ ij nksckjk gLrk{kj fd, fcuk vH;FkhZ ijh{kk gkWy ugha NksMa+sxsA ;fn fdlh vH;FkhZ us 
nwljh ckj gLrk{kj pkVZ ij gLrk{kj ugha fd, rks ;g ekuk tk,xk fd mlus mÙkj i=d ugha ykSVk;k gS vkSj ;g vuqfpr lk/ku dk ekeyk ekuk tk,xkA 
OMR    mÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFkmÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFkmÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFkmÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFk    ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk ds vaxwBs dk fu'kku yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk 
/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA/;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh cgqr deA / The candidates should not 
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart 

twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the 

Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR 

answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in 

nature. 

17. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA / Use of Electronic/Manual Calculator is prohibited. 

18. ijh{kk gkWy esa vkpj.k ds fy,] vH;FkhZ foojf.kdk esa nh xbZ izfØ;k@fn'kk&funsZ'k o cksMZ ds lHkh fu;eksa ,oa fofu;eksa dk fo'ks"k /;ku j[ksaA vuqfpr lk/kuksa ds 
lHkh ekeyksa dk QSlyk cksMZ ds fu;eksa ,oa fofu;eksa ds vuqlkj gksxkA / The candidates are governed by Guidelines/Procedure given in the 

Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair 

means will be dealt with as per Rules and Regulations of the Board. 

19. fdlh gkyr esa iz'u&iqfLrdk vkSj mÙkj i=d dk dksbZ Hkkx vyx u djsaA (No part of the Question Booklet and Answer Sheet shall be detached 

under any circumstances. 

20. ijh{kk lEiUu gksus ij] vH;FkhZ d{k@gkWy NksM+us ls iwoZ mÙkj i=d d{k&i;Zos{kd dks vo'; lkSai nsaA vH;FkhZ vius lkFk bl iz'u&iqfLrdk dks ys tk ldrs 
gSaA / On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates 

are allowed to take away this Question Booklet with them. 

� � 
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